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Answer any four (04) Questions.

All Questions Carry Equal Marks. /é f,»-*"“"ﬁ
o { 17 DEC 2013
Q1) (a) Find the value of the expression, if a = 4 Y ’
| oz
a(a - 2) 38, 5a L
{a+1)(@a—-2) 2(Ba-2) 2(3a2+a-2) T
(b) Simplify the expressions.
3a?~2a _ 2a3+10a? . a+3x  a-x 2x+a
(i) X (i1) + -
4q3 18a~12 2a 6a 2a

() Factorize the following.

)  x%*+7x+10 ()  xty*— 1252

(Q2) (a) Solve the following equations.
) a? + a — 6, find values of a,

(ii) Solve the following simultaneous equations.
3x+ 7y =27 find x,y values.

5x+ 2y =16
(b) Three fourth of the sum of two numbers is 57. When the larger is

subtracted from three times the smaller number, the answer is 40. Find
the two values,

(Q3) (a) " In an arithmetic progression fourth term is seven and fifth term is 65.
Find the first term “a” and the difference “d”. Hence find the sum of first
12 terms.

(b) Find the 8th term of the geomefric progression of —

Wik

,5,3. and find the
2’4

sum of geometric progression up to it’s 10t term.
(é) Without using tables or calculator find the value of

(Log 27 + Log8 — Log125)
Log(1.2)
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A person deposits a sum of Rs.5000 in a savings account for which a
compound interest of 6% is paid. If the interest is calculated for every
three months time, find out the compound amount in his account after 5
years.

A person invested a sum of Rs.35,000/- in a business at the end of each
year his earnings were as follows.

End of 1st year — 12,000
End of 2=d year — 15,000
End of 3w year - 20,000

Under the annual interest rate of 10%
Find the Net Present Value of withdrawals.

Find the differential co-efficient of the following functions with respect to

Gy ??

x
(i) 3x3 + 2x2 (i) 5x* —12x3 + 5x
2x%+1

x+1

(i) @x+DGx2+2) (@)

If y=3x%+8x%+6x+5 find

dy .. d?y

dx W@ e

(@)

e . (5+n)(3-n)
if limit n - ¢ Find |———————
8+n2

Integrate the following with respect to x

(a) (i) 8x3 (ii) 10x?% + bx
4 _g.2 1 : 2., 1
(i) 12x*— 8x +3 (iv) 3x% + N
(b) Evaluate
3

foZ + 8x — 9dx
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